Technical Data

ATED

e
Mechanical Positioner
Model ATP-1000 ATP-1200
Input signal 4-20mADC(5-15mADC) 0.2 ~ 1kgf/cm? (3 ~ 15psi)
Impedance 2501510 /

Supply pressure

1.4 ~ 7kgf/cm? (20 ~ 100psi)

1.4 ~ 7kgf/cm? (20 ~ 100psi)

Stroke

0° -90° (R), 10-150mm(L)

0° -90° (R), 10-150mm(L)

Air connection G(NPT)1/4 PT(NPT)1/4
Gauge connection G(NPT)1/8 PT(NPT)1/8
Conduit G(NPT)1/2 /

Explosion proof ExdIIBT6,ExiallCT6,Non-Explosion /
Protection IP66 IP66
Ambient temperature -20°C ~70°C -20°C ~70°C
Linearity +1.5% +1.5%
Hysteresis 1.5% 1.5%
Sensitivity 0.4% 0.4%

Air consumption

3LPM(Sup=1.4kgf/cm? ,20psi)

3LPM(Sup=1.4kgf/cm? ,20psi)

Flow capacity

8LPM(Sup=1.4kgf/cm? ,20psi)

8LPM(Sup=1.4kgf/cm? ,20psi)

Material

Aluminum Die Casting

Aluminum Die Casting

Weight

2.7kg(61b)2.8kg(6.21b)

1.7kg(3.71b)

Internal Position Transmitter (optional)

Input type 2Wire
Input Signal 0° -90°
Output Signal 4-20mADC
Load Resistance 0~600Q
Noise Range 50mVp.p

Adjustable Range

Zero: +10%

Span:60 ~ 110%

Protection IP66
Linearity +1%
Sensitivity 2= 0.2%
Hysteresis 0.002
Supply Voltage 15 ~30VDC

Explosion Proof

Non-Explosion

Internal Switches (optional)

Mechanical Switches

Honeywell, 5A125-250VAC(2-SPST)




Structure

Valves & Instruments

E-P positioner

INDICATOR
PILOT VALVE
BASE BODY

FEEDBACK SHAFT
FEEDBACK LEVER
PILOT VALVE

FEEDBACK SHAFT
FEEDBACK LEVER

COVER
CONNECTOR
BASE BODY

SPAN UNIT
ZERO UNIT

JUNCTION BOX
BELLOWS MECHANISM

TORQUE MOTOR

P-P positioner




Dimensional drawings
E—P positioner (Rotary)

Dimensions

191(7.52)

e

Valves & Instruments

4-M8x1.25P 8(Q.31) 91.8(3.61)

90"

43.5(1.71)26.5(1.04)33(1.3

80.2(3.16

37.2(1.46)

272(10.71)

221(8.70) g
132(5.20) 6(0.24) =
S| 2.M8x1.25P  45(1.77)
{395
sE | [ =
sl = N
R RARC, =
450177 113.5(4.47)
alaS) [
| | ] | LT0R76) o ' ]
© | 40157 2 63(2.48) | |
| | > i
< | el |
' Fan 7|
SUP, (NPT 1/4 / out. (NPT 1/4 | B P S 126(1.02) \M6 or M8 TAP :
EEE— _
FORK LEVER TYPE
Mounting
E-P positioner (Rotary)
272(10.71)
//‘/H 54(2.13)

B

78(3.07)H:20

20(0.79)

161.5(6.36)

|l

g

20(0.79 I:lI

I 133.5(1.32

=G|

130(5.12)

M6 x 63L Lever Connection

26.5(1.04)H:20

L=

80(3.15)

130(5.12)

L

Namur Connection




Dimensions m
Dimensional drawings

T e ey
E-P positioner (Linea
221(8.70) g
132(5.20 6(0.24 =
20 024 & 2-M8x1.25P  45(1.77)
©2)
f NIE (*% 1“‘%
. 3 > 8] “li 9
= @ S| o
= = ] e [ S|
= | I < g
- STIONE 8 L
ouT2, (NPT 1/4 o C~°
4501.77)) 118(4.65)
4-M8x1.25P 8(Q,31) 91.8(3.61)
S
e Sl
© a1 S
| £ g
== = @ ®) g
i o) ® ®
{ J\ I < ¥ ® ® ® ==
= @ ® ®
SUP. (N)PT 1/4 ouT1, (N)PT 1 /4\
37.2(1.46)
Mounting
E—P positioner (Linear)
i i T
ATP-1000L t | | ATP-1000L ; /
& 1] _\ | J
<~y U ) s |

4;  Brockel

o s W R
]

Bracket shope exonple !




